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ĺı
m

a
→
∞

u
0
(a

)
=

0
o
di
re
ct
am

en
te

u
0
(a

)
=

0

pa
ra

a
≥

A
∗ .



2.
E
lp

ro
bl
em

a
de

va
lo
r
in
ic
ia
l.
C
on

un
da
to

in
ic
ia
lϕ

(a
)

en
to
da

la
re
ct
a
R
:

    

∂
u

∂
a

+
∂
u

∂
t

=
−µ

(a
,t

)u
a
∈
R

,t
≥

0

u
(a

,0
)
=

ϕ
(a

)
a
∈
R

la
so
lu
ci
ón

se
ex
pr
es
a
en

la
fo
rm

a
sig

ui
en
te
:

u
(a

,t
)
=

ϕ
(a
−

t)
e−

∫ t 0
µ
(a
−t

+
s,

s)
d
s
.

En
lo

qu
e
sig

ue
se

su
po

ne
qu

e
µ
,ν

y
u
0
so
n
co
nt
in
ua
s
en

su
s
do

m
in
io
s
re
sp
ec
tiv

os
.

2.
1.

A
ju
st
e
de

la
co
nd

ic
ió
n
in
ic
ia
l.

Pa
ra

a
≥

t,
a
−

t
≥

0
.

Pa
ra

aj
us
ta
r
la

co
nd

ic
ió
n
in
ic
ia
lb

as
ta

el
eg
ir:

ϕ
(a

)
=

u
0
(a

)
a
≥

0
.



a

t

a
>

t

t 
>

 a



2.
2.

A
ju
st
e
de

la
co
nd

ic
ió
n
de

co
nt
or
no

.I
nt
ro
du

ci
m
os
:

B
(t

)
=

u
(0

,t
).

En
to
nc
es
:

B
(t

)
=

ϕ
(−

t)
e−

∫ t 0
µ
(s
−t

,s
)

d
s

t
≥

0

ϕ
(−

t)
=

B
(t

)e
∫ t 0

µ
(s
−t

,s
)

d
s

t
≥

0

as
í:

ϕ
(t

)
=

B
(−

t)
e∫ −

t
0

µ
(s

+
t,

s)
d
s

t
≤

0
.

La
fu
nc
ió
n

B
(t

)
de
sc
rib

e
la

re
no

va
ci
ón

de
la

es
pe
ci
e
y
es

un
a
in
có
gn

ita
de
lp

ro
bl
em

a.



En
la

re
gi
ón

t
≥

a
se

tie
ne
:

u
(a

,t
)
=

ϕ
(a
−

t)
e−

∫ t 0
µ
(s

+
a
−t

,s
)

d
s

=
B

(t
−

a
)e

∫ t
−a

0
µ
(s

+
a
−t

,s
)

d
s
e−

∫ t 0
µ
(s

+
a
−t

,s
)

d
s

=
B

(t
−

a
)e

∫ t
−a

t
µ
(s

+
a
−t

,s
)

d
s
=

B
(t
−

a
)e
−

∫ a 0
µ
(s

,s
+

t−
a
)

d
s
.

Po
r
ta
nt
o:

u
(a

,t
)
=

  
B

(t
−

a
)e
−

∫ a 0
µ
(s

,s
+

t−
a
)

d
s

t
>

a

u
0
(a
−

t)
e−

∫ t 0
µ
(a
−t

+
s,

s)
d
s

a
≥

t.



La
ec
ua
ci
ón

de
re
no

va
ci
ón
.
Pa

ra
de
te
rm

in
ar

B
(t

)
es
cr
ib
i-

m
os
:

u
(a

,t
)
=

  
B

(t
−

a
)k

(a
,t

)
t

>
a

u
0
(a
−

t)
m

(a
,t

)
a
≥

t.

co
n

m
(a

,t
)
=

e−
∫ t 0

µ
(a
−t

+
s,

s)
d
s
,

k
(a

,t
)
=

e−
∫ a 0

µ
(s

,s
+

t−
a
)

d
s
.

En
to
nc
es

(e
cu
ac
ió
n
de

re
no

va
ci
ón

):

B
(t

)
=

∫
t 0
ν
(a

,t
)k

(a
,t

)B
(t
−

a
)
+

f
(t

),

co
n

f
(t

)
=

∫
∞ 0

ν
(a

,t
)m

(a
,t

)u
0
(a
−

t)
d
a
.



2.
3.

A
nu

la
ci
ón

cu
an
do

a
→
∞

C
om

o:

u
(a

,t
)
=

  
B

(t
−

a
)k

(a
,t

)
t

>
a

u
0
(a
−

t)
m

(a
,t

)
a
≥

t,

y
se

tie
ne

0
<

m
(a

,t
)
≤

1
,0

<
k
(a

,t
)
≤

1
en
to
nc
es
:

ĺı
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So
n
de

la
fo
rm

a:

u
∗ (

a
,t

)
=

A
0
Π
(a

)e
p
∗ (

t−
a
) ,

do
nd

e
p
∗
es

la
ra
íz
do

m
in
an
te

y
A

0
es

un
a
co
ns
ta
nt
e.

?
Si

p
∗

=
0
,l
as

so
lu
ci
on

es
au
to
sim

ila
re
s

u
∗ (

a
,t

)
=

A
0
Π
(a

)

so
n
ta
m
bi
én

so
lu
ci
on

es
es
ta
ci
on

ar
ia
s.



5.
2.

C
om

po
rt
am

ie
nt
o
as
in
tó
tic

o.
Si

u
(a

,t
)
re
su
el
ve

el
pr
o-

bl
em

a
m
od

el
o
sa
be
m
os

qu
e,

pa
ra

t
>

a
:

u
(a

,t
)
=

B
(t
−

a
)Π

(a
)
=

(1
+

o
(1

))
B

0
ep
∗ (

t−
a
) Π

(a
),

do
nd

e

B
0

=
L(

f
)(

p
∗ )

L(
K

)′
(p
∗ )

L(
K

)′
(p
∗ )

=
∫
∞ 0

a
K

(a
)e
−p

∗ a
d
a
.

En
pa
rt
ic
ul
ar
:

u
(a

,t
)
∼

u
∗ (

a
,t

)
=

B
0
ep
∗ (

t−
a
) Π

(a
)

t
→
∞

.

Po
r
ta
nt
o:

ĺı
m

t→
∞

u
(a

,t
)
=

      

0
p
∗<

0

B
0
Π
(a

)
p
∗
=

0

∞
p
∗>

0
.



A
ne
xo
.V

am
os

a
da
ru

na
in
te
rp
re
ta
ci
ón

de
lt
ér
m
in
o

Π
(a

)
=

e
x
p
(−

∫ a 0
µ
).
Po

rd
e�
ni
ci
ón

µ
(a

)∆
a
es

la
pr
ob

ab
ili
da
d
de

no
so
br
ev
iv
ir
de

la
ed
ad

a
a
la

a
+

∆
a
co
n

∆
a
pe
qu

eñ
o.

Po
r

co
ns
ig
ui
en
te

σ
(a

)∆
a

=
1
−

µ
(a

)∆
a
es

la
pr
ob

ab
ili
da
d
de

so
br
ev
iv
ir
de

la
ed
ad

a
a
la

a
+

∆
a
.

Va
m
os

a
ob

te
ne
r
ah
or
a
la

pr
ob

ab
ili
da
d

p
a
de

al
ca
nz
ar

la
ed
ad

a
.D

iv
id
ie
nd

o
el
in
te
rv
al
o

[0
,a

]
en

un
nú

m
er
o

N
>

>
1

de
pa
rt
es

ig
ua
le
s,

po
ni
en
do

a
i

=
ia

/N
:=

i∆
a
po

de
m
os

im
ag
in
ar

la
pr
ob

ab
ili
da
d
de

lle
ga
r
a

a
añ
os

co
m
o
la

pr
ob

-
ab
ili
da
d
de

ha
be
r
cu
m
pl
id
o
pr
im

er
o

a
1
,.

..
,a

N
añ
os
.E

sc
ri-

bi
en
do

:

p
a
=

(1
−

µ
(a

1
)∆

a
)
..

.(
1
−

µ
(a

n
)∆

a
),

lo
g

p
a
∼
−

N ∑ i=
1

µ
(a

i)
∆

a
.



H
ac
ie
nd

o
N
→
∞

ob
te
ne
m
os

qu
e:

p
a
=

e−
∫ a 0

µ
.


